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1Base EHIH LA 1T

Base )
virtual Voidggeaﬁéé?iﬁi

2 INERZEZR A1t virtual void add=0;
virtual void modifyint=0;
virtual void detint=0;
doubibe IShePdlshvbeo;
ghatuadryvb20; search=0;
char carName20;

CiERig 2 FEERY - g5m 0L oot
void add;




3 R R B

~ Truck
char ﬁ%héfT%@%;
4 KELERF T char truckName20:
int truckNum;
Voiqﬁ;eag;L“FEEF
vhad~hddNafie 2"~
VEAH B v S vhad hod1PROnt
Base K% I 5L voidbdeNint ;
void seud;
class Base void addrch:
{ void modifyint;

public: void delint:

virtual void readZO;VOid save:

virtual void add=0;

void search;
virtual void modifyimt=0

virtual void delint=0;
virtual void save=0;:
virtual void search=0;:

b
AN LRSI S

class Car:public Base
{
public:
double carFee;
char carID20;
char carName20;
void read;
void add;
void modifyint;
void delint;
void save;
void search;

void Car: :read

{

ifstream carfile;
TREAR R txt”;
carfile>>carcount car. carID>>carcount car. carName>>carcount car. carFee;

CRERITZEMEERS --556I0



while
count cart+;
carfile>>carcount car. carID>>carcount car. carName>>carcount car. carFee;

j

void Car::add
arlD, carlD;
strcpycarcount car. carName, carName;
carcount car. carFee=carFee;
count cart+;

J

void Car::modifyint index

{
strcepycarindex—1. carlID, carID;
strcpycarindex—1. carName, carName;
carindex—1. carFee=carFee;

J

void Car::delint index
arlD, cari. carlD;
strcpycari—1. carName, cari. carName;
cari—1. carFee=cari. carFee;

J

count car——;

J

void Car: :search

{
forint 1=0;i<count car—1;i++
{

ifstrecmpeari. carlD, carID==0| | strcmpcari. carName, carName==0

{
cout "B TR TR EMAE S 7 <<end] ;

cout<<cari. carID<<” “<<cari. carName<<” ”“<<cari. carFee<<endl:
break:
}

else

cout<<" Lt ZE# 5" <<{endl ;break;
}

void Car: :save

{
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of stream carfile;

"R R txt”;
forint 1=0;i<=count car—1;i++
carfile<<cari. carID<<” “<<cari. carName<<” “<<cari. carFee<<endl;

)
R 5L

class Truck:public Base

{
public:

char truckID20;

char truckName20;

int truckNum;

void read;

void add;

void modifyint;
void delint;

void save;

void search;

void Truck::read

{

ifstream truckfile:

"R E R txt”;

truckfile>>truckcount truck. truckID>>truckcount truck. truckName>>t
ruckcount truck. truckNum;

while

{

count truck++;
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truckfile>>truckcount truck. truckID>>truckcount truck. truckName

>>truckcount truck. truckNum;

J

)

void Truck::add

{

ruckName, truckName;
strepytruckcount truck. truckID, truckID;
truckcount truck. truckNum=truckNum;
count truck++;

)

void Truck::modifyint index

{

strepytruckindex—1. truckID, truckID;
strepytruckindex—1. truckName, truckName;

truckindex—1. truckNum=truckNum;

J

void Truck::delint index

{

ruckID, truckID;

strepytrucki—1. truckName, truckName;
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trucki—1. truckNum=truckNum;

J

count truck—;

)

void Truck: :search

{
forint 1=0;1i<count truck—-1;i++
{
ifstremptrucki. truckID, truckID==0
{
cout " RAARS " RAMM KR AEFERHM" <end];

V{4

cout<<trucki. truckID<K” ”<<trucki. truckName<<”
”<{<trucki. truckNum<<endl:
break:

)

else

cout<<" LR 4Pz " <<endl ;break;

J

vold Truck::save

{

of stream truckfile:

"R R txt”;
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forint 1=0;i<{=count truck-1;i++
truckfile<<trucki. truckID<<” “<<trucki. truckName<<”

”<{<trucki. truckNum:

J
REGIRA) LD

class Bus:public Base
{
public:
char busName20;
char busID20;
int busNum;
void read;
void add;
void modifyint;
void delint;
void save;
void search;

void Bus: :read

{
fstream busfile” %45 &, txt”, ios::in|ios: :out;
busfile>>buscount bus. busID>>buscount bus. busName>>buscount bus. busNum;

while

count bus++;
busfile>>buscount bus. busID>>buscount bus. busName>>buscount bus. busNum;

}
void Bus::add

{
usID, busID;
strepybuscount bus. busName, busName;
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buscount bus. busNum=busNum;
count bus++;

}

void Bus::modifyint index

{
strepybusindex—1. busID, busID;
strepybusindex—1. busName, busName
busindex—1. busNum=busNum;

J

void Bus::delint index
{
usID, busi. busID;
strcpybusi—1. busName, busi. busName;
busi—1. busNum=busi. busNum;

}

count bus——;

)

void Bus: :search

{
forint i=0;i<count bus-1;i++
{
ifstrempbusi. busID, busID==0
{
cout<<"EHEEW T "KLHE M TR R RN <end] ;
cout<<busi. busID<K” “<<busi. busName<<” ”“<<busi. busNum<<endl:
break:
}

else

cout<<" LIt FEE 5" <{endl ;break;

J

vold Bus: :save

{
ofstream busfile;
"EREAE R txt”;
forint i=0;i<=count bus-1;it++
busfile<<busi. busID<<” “<<busi. busName<<” “<<busi. busNum<<endl;

include <>
include<>
include <>
include <>
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include <>

Car carMAXcar;

Truck truckMAXtruck;

Bus busMAXbus;

int count car=0;

int count truck=0;

int count bus=0;

Base p=NULL;

char c;

IR A5 B <<end1;
cout<<” 2. B 415 E " <<endl;
cout<<” 3. MR 45 K7 <<end1;
cout<<” 4. B E(E R <Kendl;
cout<<” 5. WA 45 K7 <<endl ;
cout<<” 0. 1B H"<<endl;
cout<<””<<endl;
cout<<"TEH AT EHRAER I S5 17
cinr>choice;
switchchoice

{

case 1I:
{
Car carl;
p=&carl;
cout"IEMAREEM S Brami. WA " <endl;
cindoooo>>;
cout<<" M IRAFHT A5 DA KNG A& y/Y 75 n/N'<endl;
cin>>c:
ife=="y ||c=="Y
{
p—>add;
p—>save;
}
break;
}
case 2:
{
Car carZ;
p=&car?;
int index;
forint 1=0;i<count car;it++
cout<{<i+1<<”, “{Lcari. carID<K” “<<cari. carName<<”
”{<{cari. carFee<<endl:

cout"IEIXFH LIPS "<Kendl;

cin>>index;
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cout<<"TEI AN ZME UM 44T . R EMBL. JFESH - " <<endl;

Cinoooo>):

cout<<” BRI HELE BEAX 40 KNE R yv/Y 5 n/N<end] ;
ciny>>c;
ife=="y ||c=="Y

p—>modifyindex;

p—>save;
}
break;
}
case 3:
{
Car card;
p=&card;
int index;

forint 1=0;i<count car;it+
cout<<i+1<<”, "<Lcari. carID<K” ”<<cari. carName<<”
”<{<cari. carFee<<end]l:

cout SIFIEFEEB M F 4T . Bra-mh . ARS8

5 :7<endl;

ciny>index;

cout<<" BN R HAE BEAX 3 KNG y/Y 17 n/N’<endl;
cin>>c:

ife=="vy" | |c=="Y

{
p—>delindex;

p—rsave;
}
break;
}
case 4:
{
Car car4;
p=&car4;
cout <" IFMI N M E 4 " <endl ;
ciny>;
system”pause”;
break;
}
case H:

cout SRR <RI <RI AE 7 <<end 1 ;

forint 1=0;i<count car;it++
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cout<<i+1<<”, "{Lcari. carID<K” “<<cari. carName<<”
”{<{cari. carFee<<endl:
system”pause”;
ifcount car==0
cout<<setw20<<" 4= B F " <<endl:
system”pause”;
break;
}
case 0:quit=true;break;
default:cout<<”iEHi N 075 Z A% <<endl; break;
}
ifquit==true
break;
}
system”cls”:
return;

}

IR 255 B <<end1;
cout<<” 2. 1B FZAE B <<endl ;
cout<<” 3. M R~415 H 7 <<end];
cout<<” 4. MR HAS B <endl;
cout<<” 5. WA R4 K7 <<endl ;
cout<<” 0. 1B H"<<endl;
cout<<””<<endl;
cout<<"THFHIAPTEEAERI T 7
cinr>choice;
switchchoice

{

case 1I:
{
Truck truckl;
p=&truckl;
cout<<"THFMIARENZHH S . REMM. BFEH: "<<endl;
cino>o>>>;
cout<<" B IRAF REAR BAX T KNG 2 y/Y 75 n/N'<endl;
cin>>c:
ife=="vy | |c=="Y
{
p—>add;
p—r>save;
}
break;
}

case 2:

{
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Truck truck?2;
p=&truck?;
int index;
forint i=0;i<count truck;i++
cout<{<i+1<<”. "<trucki. truckID<K” “<<trucki. truckName<<endl;
cout<<"THLFLE NI RHE B RFESS: "<endl;

cin>>index;

cout ST A BB R BN G T RAMME, BEA: " endl ;
cind>>>>>>;

cout<<" T IRAFERERE BAX D KANE R y/Y 17 n/N"<endl;
cin>>c;
ifc=="y | |c==
{
p—>modifyindex;
p—r>save;

}
break;

J
case J3:
{
Truck truck3;
p=&truck3;
int index;
forint i=0;i<count truck;i++
cout<<i+1<<”. "<trucki. truckID<K” “<<trucki. truckName<<”
”{<trucki. truckNum<<end]l;

cout<<"IHFILEPEEMIFR IR 415 BT "<endl;

ciny>index;

cout<<" BHRAT R HEE BAX T KNEZ y/Y 7 n/N'<endl;

cin>>c;
ifc="n’ | |c="N
{

p—>delindex;

p—>save;

}
break:

case 4:

Truck truck4;
cout"THEHINRZEN L5 "<endl ;

cin>>:

” ”
system pause ;
break;
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}
case 9:
{
cout<<" REZLR T "KORENM K REGEHI end] ;
forint i=0;i<count truck;i++
cout<<i+1<<”. "<trucki. truckID<K” “<<trucki. truckName<<”
”{<trucki. truckNum<<endl;
system”pause”;
ifcount truck==0
cout<<setw20<<” R4 B FE N <Kendl;
break;
}
case O:quit=true;break;
default:cout<<"iHI AN 075 Z A (%7 "<<endl ;break;
}
ifquit==true
break;
}
system”cls”;
return;
}
N ZEAE ) <<end1;
cout<<” 2. 3K 45 K" <<end1;
cout<<” 3. M %455 B <<end];
cout<<” 4. R G5 K <<endl;
cout<<” 5. W NPT A %45 K7 <<endl ;
cout<<” 0. iE H"<<endl;
cout<<””<<endl;
cout<<"THF AT EEAERNI 57
ciny>choice;
switchchoice

{

case 1:
{
Bus busli;
p=&busl;
cout<"TEMIN BRI E EW RS . BA M. BREREH N "Kendl;
cin>ooo>>;
cout<<" B IREEHFE BAR I KNG 2 y/Y A7 n/N'<endl;
ciny>c;
ife=="y ||c=="Y
{
p—>add;

p—>save;

CRERITZEREERRS --F17R



break:
}

case 2:
{

Bus busZ;

p=&bus?2;

int index;

forint 1=0;i<count bus;it++
cout<<i+1<<”, "<<busi. busID<K” “<<busi. busName<<”

”{<busi. busNum<<end]l;

cout<<"TFIEFEEE R 45 BT 415 “<endl;

cin>>index;
cout<<"THEMINEB MM K ELEM Y. KEMME . BREEEN :"<Kendl;
cind>o>o>>>;
cout " EHIRATF K EAZE BAX D K/INEJE y/Y B n/N"<endl;
cin>>c;
ife=="y | |c=="Y

{
p—>modifyindex;
p—>save;
}
break;

)

case 3:

Bus bus3;
p=&bus3;
int index;
forint 1=0;i<count bus;it++
cout<<i+1<<”, “<<busi. busID<K” “<<busi. busName<<”
”{<busi. busNum<<end]l;

cout<<"IFIEFEEMI BRI % 415 BT 515 “<endl;

cinr>index;

cout<<" B IRAEE (G BAX I KNG R y/Y 75 n/N’<endl;
cinr>c;
ifc=="y ||c=

{
p—>delindex;

p—>save;

}
break;

)

case 4:

{
Bus bus4:
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cout<<"THRIAN LW 45 " <endl;

cinyy;
system”pause”;
break;
}
case bH:
{

cout<<"FELRT "KM LR LB REE AN <endl ;
forint i=0;i<count bus;it++
cout<<i+1<<”, “<<busi. busID<K” “<<busi. busName<<”
”{<busi. busNum<<end]l;
system”pause”;
ifcount bus==0
cout<<setw20<<” & %15 KLFE 23" <<endl:;
break;
}
case 0:quit=true;break;
default:cout<<”1EHIAN 075 Z A A%+ " <<{end] ;break;

J
ifquit==true
break;

}
system”cls”;
return;

}

ead;

Truck truck;

truck. read;

Bus bus;

bus. read;

int choice=1;

ofg FVE PR <<end] ;

cout<<” 2. R4 5 BE L <end];
cout<<” 3. K45 BE P <end];
cout<<” 0. 1B H"<<endl;
cout<<””<<endl;
cout<<"TEMI AT ERAE M T
cin»>choice;

switchchoice

{

case 1: car manage:break;

case 2: truck manage;break:
: bus manage;break;

 cout<<"WMI BRI ”<<endl; return;break;

case

S W N

case
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default:cout<<”iFHiAN 073 Z |81 % 5" <<end] :break:
}

system”cls”:
}
}
IR A5 B <<end1;
cout<<” 2. B 445 B <<end];
cout<<” 3. MGH 4= B <<endl ;
cout<<” 4. WA 5 K7 <<endl;
cout<<” 5. WA 45 K" <<endl ;
cout<<” 0. 1B H”<<endl;
cout<<””<<endl;
cout<<"THFHIAPTEEAER I T 7
cinr>choice;
switchchoice
{
case 1:
{
Car carl;
p=&carl;
cout<<"THFMI AN ELEM T T4 mE. WFETH " <endl;
cin>>o>>0;
cout<<" B IRAF T FAR BARX T KNG 2 y/Y 75 n/N'<endl;
cin>>c;

ife=="vy" ||c=="Y

{

p—>add;
p—>save;
}
break;
}
case 2:
{
Car car?;
p=&car?;
int index;

forint 1=0;i<count car;it++
cout<<i+1<<”. "<Lcari. carID<K” ”<<cari. carName<<”
”<{<Lcari. carFee<<end]l:

cout<<VHFIEFEH 475 : "<endl;

cin>>index;

cout <" IHFMI N ENE M E 45 . FrEMBL. FEZH] " <endl;
cino>o>>0;

cout <" SEEIRAFT G BAX I KNE /2 v/Y A5 n/N”<endl;
cin>>c;
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